## Bid #343-11406 - Roll-Off Dumpster Service

Creation Date Mar 25, 2014 End Date Apr 28, 2014 2:00:00 PM EDT

Start Date Apr 10, 2014 4:01:04 PM EDT Awarded Date Not Yet Awarded

Panzarella Waste & Recycling Services			\$8	3,400.88	(5/5 items)
Bid Cor	ntact albert panzarella apanzarella@panzarellawaste.com Ph 877-720- <b>9594</b>	Address 4581 Weston Road #314 Weston, FL 33331			
Agency	Notes:	Supplier Notes:			
I tem #	Line I tem	Unit Price	Qty/Unit		Total Price
343- 11406- -01- 01	10 yard roll-off dumpster pull - First Offer	\$124.56	3 / each		\$373.68
Produc Agency	t Code: Notes:	Supplier Product Co- Supplier Notes:	de:		
343- 11406- -01- 02	20 yard roll-off dumpster pull - First Offer	\$124.56	149 / each		\$18,559.44
Produc Agency	t Code: Notes:	Supplier Product Co- Supplier Notes:	de:		
343- 11406- -01- 03	30 yard roll-off dumpster pull - First Offer	\$124.56	512 / each		\$63,774.72
Produc Agency	t Code: Notes:	Supplier Product Co- Supplier Notes:	de:		
343- 11406- -01- 04	40 yard roll-off dumpster pull - First Offer	\$124.56	4 / each		\$498.24
Produc Agency	t Code: Notes:	Supplier Product Co- Supplier Notes:	de:		
343- 11406- -01- 05	SERVICE CHARGE - First Offer	\$194.80	1 / each		\$194.80
Produc Agency		Supplier Product Co- Supplier Notes:	de:		
Southern Waste Systems  Bid Contact Andy Plunski aplucinski@swsfl.com Ph 888-800-7732		Address 2380 Colle Davie, FL	ege Avenue	9,078.52	(5/5 items)

Bid Co	ntact <b>Andy Plunski</b> aplucinski@swsfl.com Ph 888-800- <b>7732</b>	Address 2380 College Avenue Davie, FL 33317			
Agency	y Notes:	Supplier Notes:			
Item #	Line I tem	Unit Price	Qty/Unit	Total Price	
343- 11406- -01- 01	10 yard roll-off dumpster pull - First Offer	\$189.25	3 / each	\$567.75	
	et Code: y Notes:	Supplier Product Co Supplier Notes:	de:		
343- 11406- -01- 02	20 yard roll-off dumpster pull - First Offer	\$189.25	149 / each	\$28,198.25	

Bid #343-11406 - Roll-Off Dumpster Service Supplier

poter ocratice	Sappiloi			
Product Co Agency No		Supplier Product Co Supplier Notes:	ode:	
343- 11406- -01- 03	30 yard roll-off dumpster pull - First Offer	\$135.46	512 / each	\$69,355.52
Product Co Agency No		Supplier Product Co Supplier Notes:	de:	
343- 11406- -01- 04	40 yard roll-off dumpster pull - First Offer	\$189.25	4 / each	\$757.00
Product Co Agency No		Supplier Product Co Supplier Notes:	de:	
343- 11406- -01- 05	SERVICE CHARGE - First Offer	\$200.00	1 / each	\$200.00
Product Co Agency No		Supplier Product Co Supplier Notes:	de:	

	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
Sunsh	ine Recycling Services of SWFL		\$11	19,900.75	(5/5 items)
Bid Cor		Address 3547 NW 49 St. Miami, FL 33142  01 applies to the entire bid. This attachment serves as 2.13 of PART II - TECHNICAL SPECIFICATIONS/SCOPE			
Agency	Notes:	Supplier Notes: Attachment submitted on 343-1140601-01 applies to the entire bid. This attachment serves as the business plan as requested on Section 2.13 of PART II - TECHNICAL SPECIFICATIONS/SCOPE OF SERVICES. It includes additional information on equipment, references, experience, etc.			
Item #	Line Item	Unit Price	Qty/Unit		Total Price
343- 11406- -01- 01	10 yard roll-off dumpster pull - First Offer	\$179.09	3 / each		\$537.27
Produc Agency	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
343- 11406- -01- 02	20 yard roll-off dumpster pull - First Offer	\$179.09	149 / each		\$26,684.41
Produc Agency	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
343- 11406- -01- 03	30 yard roll-off dumpster pull - First Offer	\$179.09	<b>512 /</b> each		\$91,694.08
Produc Agency	t Code: v Notes:	Supplier Product Co Supplier Notes:	de:		
343- 11406- -01- 04	40 yard roll-off dumpster pull - First Offer	\$179.09	4 / each		\$716.36
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
343- 11406- -01- 05	SERVICE CHARGE - First Offer	\$268.63	1 / each		\$268.63
Produc	t Code:	Supplier Product Co	de:		
					EXHIBIT 1

Agency Notes: Supplier Notes:

Waste Management Inc of FI. \$123,765.00 (5/5 items) Bid Contact Luigi Pace Address 2700 Wiles Road lpace@wm.com Pompano Beach, FL 33073 Ph 954-984-**2060** Agency Notes: Supplier Notes: Item Line I tem **Unit Price** Qty/Unit **Total Price** 343-10 yard roll-off dumpster pull - First Offer \$185.00 \$555.00 3 / each 11406 -01-Supplier Product Code: **Product Code:** Supplier Notes: Agency Notes: 343-\$185.00 20 yard roll-off dumpster pull - First Offer 149 / \$27,565.00 11406 each -01-02 Product Code: Supplier Product Code: Supplier Notes: Agency Notes: 343-\$185.00 30 yard roll-off dumpster pull - First Offer 512 / \$94,720.00 11406 each -01-03 **Product Code:** Supplier Product Code: Supplier Notes: Agency Notes: 343-\$185.00 \$740.00 40 yard roll-off dumpster pull - First Offer 4 / each 11406 -01-04 Supplier Product Code: Product Code: Supplier Notes: Agency Notes: 343-SERVICE CHARGE - First Offer \$185.00 1 / each \$185.00 11406 -01-05 Supplier Product Code: **Product Code: Agency Notes:** Supplier Notes:

Repub	lic Services	\$129,893.04 (5/5 items)				
Bid Contact Danielle DiNicola ddinicola@republicservices.com Ph 954-583- <b>1830</b>		Address 751 NW 31 Street Lauderhill, FL 33311				
Agency	y Notes:	Supplier Notes:				
Item #	Line Item	Unit Price	Qty/Unit		Total Price	
343- 11406- -01- 01	10 yard roll-off dumpster pull - First Offer	\$194.16	3 / each		\$582.48	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
343- 11406- -01- 02	20 yard roll-off dumpster pull - First Offer	\$194.16	149 / each		\$28,929.84	
	rt Code: y Notes:	Supplier Product Code: Supplier Notes:				
343- 11406- -01- 03	30 yard roll-off dumpster pull - First Offer	\$194.16	512 / each		\$99,409.92	

Bid #343-11406 - Roll-Off Dumpster Service Supplier

Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
343- 11406- -01- 04	40 yard roll-off dumpster pull - First Offer	\$194.16	4 / each	\$776.64
Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
343- 11406- -01- 05	SERVICE CHARGE - First Offer	\$194.16	1 / each	\$194.16
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

Progressive Waste Solutions of FL, Inc. \$147,645.00 (5/5 items) Bid Contact Carlos Verney Address 3101 NW 16th Terrace carlos.verney@progressivewaste.com Ph 954-288-**7526** Pompano Beach, FL 33064 Agency Notes: Supplier Notes: Item Line Item **Unit Price** Qty/Unit **Total Price** 343-10 yard roll-off dumpster pull - First Offer \$250.00 \$750.00 3 / each 11406 -01-01 Product Code: Supplier Product Code: Supplier Notes: Agency Notes: 343-20 yard roll-off dumpster pull - First Offer \$205.00 \$30,545.00 149 / 11406 each -01-02 Supplier Product Code: Product Code: Agency Notes: Supplier Notes: 343-30 yard roll-off dumpster pull - First Offer \$225.00 512 / \$115,200.00 11406each -01-Product Code: Supplier Product Code: Agency Notes: Supplier Notes: 343-\$250.00 \$1,000.00 40 yard roll-off dumpster pull - First Offer 4 / each 11406 -01-04 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: 343-SERVICE CHARGE - First Offer \$150.00 1 / each \$150.00 11406 -01-05 Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

Waste Pro of Florida \$149,089.00 (5/5 ite				(5/5 items)	
Bid Co	ntact Tim Bowers tbowers@wasteprousa.com Ph 954-967- <b>4200</b> tes Disposal charges not included in haul rates	Address 17302 Pines Blvd. Pembroke Pines, FL 33029 ates quoted.			
Agency Notes: Supplier Notes: Disposal charges not included in I quoted.			I in haul rates		
Item #	Line I tem	Unit Price	Qty/Unit		Total Price
343-	10 yard roll-off dumpster pull - First Offer	\$223.00	3 / each		\$669.00

## Bid #343-11406 - Roll-Off Dumpster Service Supplier

## City of Fort Lauderdale

11406 - -01 - <b>01</b>				
Production Agency		Supplier Product Co Supplier Notes:	de:	
343- 11406- -01- 02	20 yard roll-off dumpster pull - First Offer	\$223.00	149 / each	\$33,227.00
Produc Agency		Supplier Product Co Supplier Notes:	de:	
343- 11406- -01- 03	30 yard roll-off dumpster pull - First Offer	\$223.00	512 / each	\$114,176.00
Product Agency		Supplier Product Co Supplier Notes:	de:	
343- 11406- -01- 04	40 yard roll-off dumpster pull - First Offer	\$223.00	4 / each	\$892.00
Produc Agency		Supplier Product Co Supplier Notes:	de:	
343- 11406- -01- 05	SERVICE CHARGE - First Offer	\$125.00	1 / each	\$125.00
Product Agency		Supplier Product Co Supplier Notes:	de:	